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B3k Spp = X (diL)
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2
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5
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V2
Scr =?x(:h‘£]
- cx
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3
HT!R?‘E‘SHE=6+EX
3
— Spg =6+L—1x=x

Spr = 24 kN($r)
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- S B2 % A BEHREE £=200<10 KN/m - 1=1000<10 mm 3% H $ER 0 ¥R C gL
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(GER R XD
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OHAEEB AL LKL i 4 -
QEBRYMBREARS > MAXCRGEER > ZERALHPE -
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LAs 4k 4
EABCAGE ) Mc=0
R,(4)=30 — R, =7.5kN(T)

% ta ZFY=U S R,=0
£CDE i ) M;=0

Mg = 7.5(4)—7.5(2) = 15 kN — m(3)
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ZF},—{]
15 45 45
Ver = 2( )(Zj (Er)(2]zﬁzznox100=U'UDZZS

8cr = 0.00225 rad(Mg)

()% KA

ﬁZ,i'a;l:{]
)G S0 (oo

1

L) n2va)e

S 67.5 45 225 22.5
= = 0.001125

Vo, =V. - Vp = — — — =
ce= Ve YR T Tpr TETC EI 200x 100

8., = 0.001125 rad(i)

N
2

BB %75 fie 8547 > d=b5cm in‘é w=22tfm (X3 p E€pF) 2 5

-
F
g
Ar

2
PR TTEwW =18 8tf/m iv* » Rt H & 2300kgf/m » fcJ=315kgf/ cm - 4% 5% fy=4,200
2

gty em + 3# Fo 655 2 305w M, - 2 S L LOM > M 2 & £ grumia
#it% - D25 &z 254cm . A=5067cm - (25 &)

wp=2.2 tf'm + weight of beam
wr=1.8 tf'm

REREEREERRE

A0 cm

| 55 em

®g

%]

0o
L

- “

~

[Fe3an4t])

N

(D2 84 B 55 58 R A7
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Ve

= 12w, + 1.6w,
=12(22+24%x03x0.6)+1.6(1.8)
= 6.0384 (tf/m)

@) # % 4B E Mgy

1 1
M, = gWu L* =— (6.{]384](6)2 = 27.1728 (tf —m)

23448 K’L%&*‘E@E‘.@M
D4 S HE TR
0.85F' X Byxy, X b 0.85(315)(0.825 x 0.6 X 55)(30)

_ _ _ 2
b= 7 2200 52.068 cm
A, =3 x5.067 = 15.201 cm?
@3 ¥ hX
A X f, =085 X Bix XD
15.201 x 4200 = 0.85(315)(0.825x)(30)
x=9634cm —a=pf,x=7948cm
Qe a M,
7.948
M, = Af, (d _E) = 15.201 X 4200 X (55 _T)
= 3257714 (kgf — cm) = 32.577(tf —m)
@I F]+ @
5 55 5
—065+{]25(———)—065 025(———)—1661 0.9
v x 3 0.634 3 (% 0.9)
()& - 45 4E 5% B @M,

oM, = 0.9(32.577) = 29.319(tf —m) > M, = 27.1728 (tf — m)
&M, > M, 2 & &

Lo K% w =2.7 tfim (1g ) 2 Edot fF w=21tm Fr - REd fol= 315kgf/

cm > 4 85 fy= 2800kgf/cm » D10 j# 5 & /2 0.953cm > A= O71cm » D22 48 D E S
22cm o FEKE LR Acm o FRORE D T OLKEZ TS ’()R;%?Wfrm/* :]waLFa’“&E
s=?7cm (25 %~ )

5% 0% 1053 bud - 1.063/f byd - 2.12./f bd

wp=2.7 tf'm wy=2.1tflm 90 cm
| |
N

¥F1F111f

\ t 15 cm
10 m ’-( 35 cm
’_‘ IS{J cml
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D& —THILTAE > U2 K2 FEES-
@ f = 315 kgf /em® pr ¥} JE 698, = 0.825 .

3. (& P4EE) ERIE A P2-20 ~ P47 )38

[#%]
Lp= TAR &
b, 30
?‘*’=?=15cm = hg= 1bcm

4b,, =4 X30=120em = by =90cm

AR BTG A T3 R
oVommt i w i

2.2
d=354+15— 4—{].953—?= 43.947 cm

V. = 0.53,/f'b,,d = 0.53/315(30)(43.947)

V., = 12402 (kgf)

3. 9R 45 2 [ EE
w, = 1.2w, + 1.6w, = 1.2(2.7) + 1.6(2.1) = 6.6(tf/m)
V, = 6.6(5— 0.43947) = 30.099(tf) = 30099(kgf)
sV, +V) =V,

A f.d
@(PH 2 )=1fL
1y
2x0.71x2800x 43.947
U.?5(12402—|— . )= 30099
s =6.301cm
4.4 8 Smax

V.= 12402(kgf) - V.=27730(kgf)
2V, <V, <4V,

| A.f, Avfy d 30

3.5b, 0.2 /f'b, 4 am
C[2x0.71x2800 2x0.71x2800 43947
= min L s

3.5 x 30 0.24/315x 30 4

= min|[37.867 - 37.337 » 10.987 - 30 | = 10.987 cm

Sy = mMin

Firt VS =DCcm e 7R
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